Multiplication par 100 (B)

Trouvez chaque produit.

30 X100 = 28 X100 =
67 X 100 = 16 X 100 =
89 X 100 = 1x100 =
36 X 100 = 21 x100 =
86 X 100 = 4 x 100 =
38 X 100 = 78 X 100 =
18 X 100 = 63 X 100 =
50 X% 100 = 32 x100 =
52 x 100 = 19 x 100 =
42 X 100 = 69 X 100 =
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Multiplication par 100 (B) Solutions

30 x100=3000

67 x 100 =6 700

89 x 100 =8900

36 X 100 =3 600

86 X 100 =8 600

38 X100 =3800

18 x 100 =1 800

50 x 100 =5 000

52 x100=5 200

42 x 100 =4 200

Trouvez chaque produit.

28 X100 =2800

16 x 100 =1 600

1x100=100

21 x100=2100

4 x 100 =400

78 x 100 =7 800

63 X 100 =6 300

32 x100=3200

19 x100=1900

69 X 100 =6900
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